GENERAL SCIENCE — CHEMISTRY/ACID, BASE AND ALKALI

1. If the pH value of river water s ........ , then its water is considered polluted with acidic waste.

ITE FEY & STl T pH AT ........ BT Al 3HHT STeT Il IUTRASE H TG AT ST & |
(a) Exactly 7
(b) Zero
(c) Above 7
(d) Below 7
RRB NTPC 31.01.2021 (Shift-1) Stage Ist

e The pH value is a measure of the acidity and basicity of a solution. It is defined as the negativelogarithm
of the liquefied hydrogen ions (H+) concentration.

o OuT AT FoRHY B 1 31eldT 3R STRI™CT &1 AT §1 33 GAdhd 818 8Totet AT (H+) |G &
RUTICHS STEETUTeh o §9 H TR fohar arar g

2. What is the pH value of lemon Juice approximately?

1] 3 TH T pH HTeT oTaT37eT fehcTall Blcll 82
(a)9
(b) 2
(c) 12
(d)7
RRB NTPC 29.12.2020 (Shift-1I) Stage Ist
e Lemon Juice nature is acidic with a pH of about 2, but once metabolized it actually becomes alkaline with
a pH value above 7.

o ofiq 3 T T TehTcl ST 2 T o A 31Fcl BIech 8, oAfehed Ueh IR AT o o716 Tg Aecia 7 7
FIR AT AT & TTY &R 8T STAT g |

3. When the pH value increases from 7 to 14, it shows that-
ST pH AT 7 & T 14 8Y STTaT &, a T8 eifar & -
(a) Decrease in H+ concentration
(b) Increase in OH- concentration
(c) Increase in H+ concentration
(d) Decrease in OH- concentration
RRB Group-D 19-09-2018 (Shift-II)
o The pH value of a solution is a number that represents the acidity and basicity of that solution.

o R 9T FT pH AT Ueh G&IT & S 3T °Yel T 3ol 31K emdaar s eeiar & |

4. Which represents the increase in pH value from 7 to 14 -

S e 71 7 7§ 14 7 B o0 AR -

(a) Decrease in OH— concentration
(b) Increase in H+ concentration
(c) Decrease in H+ concentration
(d) Increase in OH- concentration
RRB ALP & Tec. (17-08-18 Shift-I)
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5. The most acidic mixture has a the pH value of ....... ?

a1 3l THSOT AT pH AT ....... BT 62
(a) 14
(b) 7
(c)1
(d)o
RRB Group-D 11-10-2018 (Shift-Ill)
The pH of a highly acidic mixture is '0'. Sorensen presented the pH scale in 1909.

3T 3N FRAOT 1 T '0' & | ERHT & 1909 H pH Tehel TEICT fehaT|

6. What is the pH value of lemon juice?/#iﬁf\*lﬂ?ﬂ pH J:l'l?-rﬁv_clﬂT?IFlT%}?
(a)7
(b) 2.2
(c)5.4
(d)9
RRB JE 02.06.2019 (Shift-1II)

e The pH value of lemon juice is near about 2.2/ Fﬁﬁ\a;WWtﬁWWW 2.2 H S gIdl %’

7. Which one of the following is commonly used as an indicator to measure the exact pH? [Aeef@a T
I TT IMHAR W TEF pH T ATTA & [T Teh Hohcleh & &9 H 3TAN9T HAT ST §?

(a) phenolphthalein/fthaiTeTF ot

(b) litmus /foleag

(c) Eosin /é&ﬁﬁlt_rf

(d) Universal Indicator/ﬂﬁaﬁﬁw
RRB ALP & Tec. (17-08-18 Shift-1ll)
A universal indicator is a pH indicator is usually composed of water, 1-propanol, phenolphthalein, sodium

hydroxide, methyl red, bromothymol blue, sodium bisulfite, and thymol blue./WmﬁﬁmW
HTHAN 9T T, 1-S0eATel, AT, SfsTH grssiearss, fRurse 8, siAlfd#AYe sof, @fsaH
SIEaeHIEE 3R UTSAS o] A TAT T B
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8. Which of the following solutions is the most acidic of all? /FAfafad 7 & i O g gy 31+
IFATB?

(a) solution with pH scale 0
(b) solution with pH scale 1
(c) solution with pH scale 6
(d) solution with pH scale 7
RRB ALP & Tec. (21-08-18 Shift-1)

e Inthe molarity of hydronium ion, concentrations are easily displayed in a logarithmic scale.

o ETSINTH AT 1 AT H, Hical ST TLTVTRIRT AT 7 3T & T e frar S g |

9. The pH value of neutral solution is: /3eTENe faerdet &1 pH ?Fl'l?r%':
(a)7
(b) &
(c)4
(d)5
RRB Group-D 25-09-2018 (Shift-1)

e The pH value is between 0-14. Acidic solutions have a pH value of less than 7, while alkaline solutions
have a pH value greater than 7 and neutral (inert) solutions have a pH value of 7.

o  UTT AT 0-14 & ST | 31T G T pH ATT 7 T HH 8IaT &, ST 8T 8l &l pH AT 7 I 318
BT & 3T deey (ATSHT) 8T T pH AT 7 1T &

10. The pH of a solution is 3 when the pH changes to 6 so the H+ ion concentration ? /TR aveT T pH 3 g
€ ST pH 6 7 S& ol SITAT § AF H+ 37T TigdT 8l SiTdl &7

(a) Increases twice.
(b) Increases by three times.
(c) 100 times decreases.
(d) Decreases by 1000 times.
RRB ALP & Tec. (10-08-18 Shift-I)

e pHis a measure of the acidity or basicity of a solution. It is defined as the negative logarithum of the
liquilfied Hydrogen ion concentration.

e If the pH value of a solution is 3, the concentration of H+ ion will be 10-3 mol / liter. Similarly, if the pH
value of a solution is 6, the concentration of H+ ion will be 10-6 moles / liter, which will be 1000 times
less than the first concentration.
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& F IR frar g

pH ToRE ElTeT T eIl AT &TREhclT T AT & | S dlehe] GTSgToTel 31Tt Higicll & ROMcHD oTLI0Th &

e ford &Yl T pH AT 3 &, aF H+ 31T T TigdT 10-3 mol/eliex 89T | 38t YR, afe; fondd et &t

pH #TeT 6 8, 7Y H+ 3TTT hl Hieicll 10-6 FHYel/oleT 8191, St Ugell Higell & 1000 [T Ha grafT|

SR
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11. What will be the pH value of a solution whose concentration of hydrogen ions is 1 x 10-5 moles per liter -

3 ©Yel T pH HTeT AT {191 foTHehT BTSSISTeT TI=AT Shr TG 1 x 10-5 AYeT T ellel § -

(a)6
(b) 5
(c)4
(d)7

RRB ALP & Tec. (13-08-18 Shift-lIl)

The pH value of a solution is the number of negative powers of 10 that reveal the hydrogen ion concentration
of that solution (H+)

TR ©Tel T pH AT 10 T ARRTcHS ATFIAT T TEIT § ST 3 el FT §183ToTeT 3T TigdT (H+) T Ihe

FLATE
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[H]= 10"
log |[H'] =-pH.logl0, pH = -log [H]
Given here [H'] =107
Hence pH=-log[107]

H=+51og 10
'[E)H=5xl=5

12. If the pH value of a substance is less than 7, it will be considered. /aﬁﬁo—d’rqarz‘rwchwm 7 Q}IW%’

ar 38 AT ST |
(a) Neutral

(b) Alkali

(c) Acid

(d) lon

RRB NTPC 02.04.2016 (Shift-1ll) Stage Ist

e The pH value is a number that exhibits the acidicity and alkalinity of substances. Its value is equal to the
inverse coefficient of the concentration of hydrogen ion (H+).

o UTUT AT Ueh TEAT & ST Tt I 319clar 3R &TRITAT HF I& T2 il & | ST Aol gISSIoted 3T
(H-+) T FGelT o SFcsha 0TI & RIS ¢ |

13. If the pH of a salt is zero, it is a salt of
Ife; el 737 T pH T &, A TE —— FTAFH 8|
(a) Strong acid and weak base
(b) weak acid and strong base
(c) Strong acid and strong base
(d) Weak acid and weak base
RRB Group-D 12-10-2018 (Shift-I)

e If asalt has a pH value between 0-3.5, it is a strong acid and is a weak base. While the pH of a salt is more
than 10.5, it is a strong alkali and is a weak acid.

o I FHE FH1 fU= AT 0-3.5 F AT §, Y Tg Teh Aol TS ¢ 3R Teh HASIN 3MUR § | STafeh T
T AT 10.5 9§ 3118 §, Tg Teh AT &TR & 31 U A vfas

14. The pH value of neutral solution is ............ ?

RRB Group-D 12-11-2018 (Shift-I1)
e Acidity increases when the pH value is less than 7, and alkalinity increases when it is greater than 7.

o UWITT AR 7 ¥ FH gl W eIl §¢ T g, 3R 7 F 3170 g1 W &TRIIdT 56 ST g

(a) Hydride ion
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(b) Hydroxyl ion
(c) Oxide ion

(d) Hydronium ion
RRB JE 26.06.2019 (Shift-1v)

e The pH of a solution depends on the concentration of its hydronium ion.

o ) Oiet T v 39 g3 ATH 3 i Figdr W AR aarg

16. In universal indicators, what does a pH value of 4 to 5 indicate? /Hﬁ?ﬁmmﬁﬁ, 48 5FH pH HTeT
FT gRATar g?

(a) Weak acid
(b) Weak base
(c) Strong acid

(d) Strong alkali
RRB JE 22.05.2019 (Shift-Il)

e Inuniversal indicators, a pH value of 4 to 5 indicates weak acid.

o  GIIHIAF Gl &, 4 T 5 FT N AT FHAR TRAS I SAT FIAT S|

17. If the pH value of a saltis 12, then itis asalt of ....... ?
I F AFS FTpH AT 128, AT TG ... . HTATUTE |

(a) Weak acid and weak base
(b) Strong acid and weak base
(c) Weak acid and strong base

(d) Strong acid and strong base
RRB Group-D 11-10-2018 (Shift-1ll)

e If asalt has a pH value of 12, it is weak acid and strong base.

o IR Tl e &1 T AT 12 §, A I8 HASIN 3o AR ASTIT 8T T

18. The pH of......... cannot be detected by direct use of pH paper..........
IUg IR & WY 39T ..o T 9T T 8T STIT ST TRl §

(a) Ink /&ITEr
(b) Water /9TsiT
() Juice /T

(d) Solid sodium bicarbonate /mﬁ%ﬂﬁa@aﬂaﬁ?
RRB Group-D 27-09-2018 (Shift-1ll)

e The pH scale is used to express the basicity or acidicity of a solution.

o UIUT Thel T 39T fohdT BeT T &TRIIAT IT 37EeTdT Sl ST alel & [T fohar STar g

19. Litmus solution is derived from /ﬁE?FRTEﬂFT Q—LI‘;lTVcrglFll %’

(a) Hyd rangea/@%ﬁﬁ'ﬂT
(b) Cabbage leaves/gaTaNaT & U<t
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(c) Lichen /lTScheT
(d) Petunia/el:c;ﬁ'QT

RRB NTPC 08.01.2021 (Shift-1l) Stage Ist
e Litmus is used as an indicator to distinguish between acid and base.

o TICHT FT 3UINT 375 3R &R & &I 37 el & ToIT Ueh Hohdsh o &9 H fHar Srar gl

20. A mixture converts blue litmus to red, it's have a pH of .......... Wﬁwmmﬂaﬁmﬁqﬁaﬁa

RRB Group-D 28-09-2018 (Shift-1)
RRB ALP & Tec. (14-08-18 Shift-11)
e  When the pH value of a solution is less than 7, it is acidic and when the pH value of a solution is more
than 7, it is alkaline.

o S FE NI FTNTT AT 7 A FHBIAT g, AT I8 IFNT alar g IR S T g T dua AT 7@
3fRF gIare, Al ag eI gl g |

21. Which of the following will make blue litmus red?

frafaf@d & & it sfrer oA s &t aftel S &am?
(a) Vinegar /fATepr

(b) Lime water /ﬂt\?-TEhTQ'I?ﬁ

(c) Baking soda solution/afehaT ST BT

(d) Liquified soda sqution/HﬁiﬂﬂﬁTWﬁ
RRB JE 27.05.2019 (Shift-l)

e Vinegar will turn blue litmus into red./f8XaRT siTel TolcaH &I ofTel H SGof GaT|

22. Which of the following is a olefactory indicator? /ﬁmﬁ@aﬁﬁaﬁamwsﬂﬂﬁmﬂﬁéﬂa%‘?
(a) Rose /UJFI'IH
(b) Soap /ETEeT
(c) Clove /aitaT
(d) Turmeric /ol
RRB Group-D 26-09-2018 (Shift-1)

e There are some substances whose odor changes in acidic or alkaline medium, such substances are called
olefactory indicator.
e Such as vanilla, onion and clove etc. are scent indicators.

o Fo YT WA B ¢ TSIeTeh aTer 31o=elr AT &7 ATETH H deol Sicll ¢, T gerf &l 3ietheredl Iash
FET AT S|
o SN IAfYeT, wret AR aitar 30 Feter gaew §
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23. What will be the value of the solution, whichturns the red litmus to blue? /ﬁﬁmﬁﬂﬂmwgﬁ |

S ofTeT forea T &Y AYelT T aT g2
()5
(b) Less than 4
(c)6
(d) More than 7
RRB JE 27.06.2019 (Shift-I)

o The pH value of that solution will be greater than 7, which turns the red litmus blue.

o 3T U FHT NTT AT 7 T 3T g1, ST ATl Tole AT ! elvelT T ST &

24. When litmus is taken into a borax solution, it turns................. m@m*mﬁmmﬁ ar
BLCCTRCICIES
(a) Pink /ﬂ?»l'l‘sﬁ
(b) Blue /el
(c) Orange/sTR3fT
(d) Red/elTel
RRB JE 23.05.2019 (Shift-1)
e When litmus is taken into a borex solution, it turns blue.

o FdfcHT A INFT NI HSATATITE, AN T AT &Y ST &

25. Which of the following indicators cannot be used to differentiate between acidic and neutral solutions?
fArfaf@d # & fora Gahdeh &1 39T 3Fed AR TCE GATUTAT & d1a 3R et & o 727 forar s
el 82
(a) methyl orange /fRTS e 3T
(b) phenolphthalein /fhaterFafereT
(c) Eosin /é'm?-r
(d) Universal Indicator/a‘ﬁaﬁﬂﬁm
RRB ALP & Tec. (14-08-18 Shift-lIl)

e A natural or synthetic indicator such as phenaphthylene, universal indicator methyl oranges,detects the

acid or alkali properties of a compound while cytoplasm, tissue is studied by eosin.

o Tk WTehicih AT AT Heheleh SIA o a1 Ttrelie, ATl iPes Henclen [HUTS el 31T, Teh Alfaeh o
T8 3T &TR [0 T Tl 3TNl & STeieh HISCICAATSH, Srcteh o ETTT ST @Ry foharr ST |

26. Fill in the blanks with appropriate options. .......... turns blue litmus into red and ...... ,turns ..... litmus to
blue ?

3R Reedt A RFTeAF 11| ... N Perg A AT H I earg 3N ..., Peag o Fagergar

(a) Alkali, acid, red /&I, 37&T, olTel
(b) Acid, alkali, green /31&dT, &1, 8T
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(c) Alkali, acid, pink /&TR, 373, J[eTTsll

(d) Acid, alkali, red/37FdT, &Y, olTel
RRB NTPC Stage Ist 29.04.2016 (Shift-1I)
e The litmus paper is actually blue. But when it is immersed in acid, it turns red and this red litmus paper is
again dipped in alkaline solution, then it turns red to blue. Due to this nature of litmus paper it is also
called indicator.

o foeHAE qux areda # Aol 81cl & | Afehet STa S8 319el & SaIAT ST § A Tg oTel 81 ST § AR 38 ofrer
forea T QU 1 2TaIRT 8T EiYer & 1T STTcT & il TE offel A el 81 STl & | foleaay oy S st
el & HROT IE $1 & I Fgl STl 8.

27. The color of inactive litmus solution is ........ /AT focaa e g AT T ... B’IHT%’
(a) PurpIe/QﬂﬁT

(b) Black /ehTelT

(c) Blue /el

(d) Dark blue /3T&3T sirell
RRB Group-D 24-09-2018 (Shift-1)
e Litmus is a natural indicator. It is soluble in water. It is obtained from plants of lichen. The color of
inactive litmus solution is purple.

o foeHa vk yrehicieh Hevcleh § | I8 Ul H Golereliel 8. Ig TSl & diel & urec gl g | [ fSsrar
oreag faoraeT 1 T daet T g

28. Litmus solution is a purple dye, which is extracted from —— . /WWWW@T%, L]

(a) Harita (moss)/gRdT (F13)
(b) Spirogyra /TUTSIETET
(c) Lichen/?—l'l%ﬂTrr

(d) Rixia /RfFaar
RRB Group-D 12-12-2018 (Shift-Il)

29. The litmus solution is extracted from the . /WW_@WE’IHT%I
(a) Lichen/c_vl'léa'ﬂ
(b) Hydrangea /gT8sTorar
(c) Geranium/s s
(d) Petunia /ﬁfgﬁ-l'QT
RRB Group-D 22-09-2018 (Shift-1l)

e Litmus solution is extracted from lichen. Litmus is a mixture of various water soluble pigments extracted
from a plant called 'lichen' of the Thalophyta group. It is often used as a Indicator. Litmus solution is
purple when it is neither acidic nor alkaline.
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o WISehel H ToIcHH el TAehTell ST & | feleHd AellhISer Hg & "oliSehe’ AATHS G { f¥ehrel 37T
Taferest areit ¥ goferelier {3t ohr TAAOT & | SHeRT ST 3R Teheleh oh & # feham STrelr & | foreama
TSl S9TeiT 81l & oI TE of dl 31 el &Il & 31} o & &R |

30. When litmus solution is neither acidic nor alkaline, it has a color.

1 foreaq gYel o aY 3ol 8T & 3R 7 &1 TR, A ST T eiar g
(a) Colorless /33TEIT
(b) Violet /alaTsiY
(c) Blue/aiTel
(d) Pink /3TeTTsiT
RRB Group-D 05-10-2018 (Shift-1)
e  When litmus solution is neither acidic nor alkaline then its color is purple. Litmus is a mixture of various
water soluble pigments
e extracted from a plant called 'lichen' of the Thalophyta group. It is often used as a Indicator.

o I TITHT el o dl 31l 81T & 31 o &7 8T AT ST 19T §914T giar ¢ | Foreaw RAfdes s &
geferefer it & fAsor g
o ANBISCT HAHE & "olTSeheT’ FATHD GIET H TARTC I1AT| SHRT ITANT 3HFHT Hehcleh o ®9 3 Tl ST & |

31.The substances whose odor changes into acidic or alkaline medium. ... ... It is said. /& TeT for=Tehr arer
IFCT T &R ATETA H JET A8 1. ... g el AT g |

(a) Synthetic indicator/f&afes Thde

(b) Acid-base indicator /UTOS-9H Hehdh

(c) Olefactory indicator /3Teithaedl Hohddh

(d) Natural indicator /WW
RRB Group-D 19-09-2018 (Shift-1)
e There are some substances whose odor changes to acidic or basic medium. These are called Olefactory
indicators. Such as vanilla, onion and cloves etc.

o Fo Y W EIA ¢ el 31T 31elir AT &7 ATETH H deel Sicl 8| §og 3iTeltheredy Heneleh gl
ST &1 S8 afare, waret 3R oifar anfe|

32. If the soil is treated with soft acid, then the soil will contain the flowers of Hydrangea culm will be—
I FATEr &1 oA 31 & 39aTRd farar e, A fAee) 7 s fora wed & o gren-
(a) White color/@the TaT
(b) Blue /aATelT
(c) Brown /3131
(d) Pink /3TeTsiT
RRB Group-D 28-11-2018 (Shift-1)
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e Hydrangea glum flowers are blue in color. Hydrangea is in full bloom in August. Its petals acquire a blue
color in an acidic environment and the actual colour of litmus is blue.

o BISSTOIAT ToIA & el ofel T 81 § | 31T H gTssforar G e fera & | 3aehT agfsar ey
ITATEROT H A6l TT 9T I ol & 3R foread &1 aredias WrAlem gl gl

33. When mixed with sulphuric acid, the color of litmus solution will be different? /HFW‘WWQ?HTU
fAemer 91 forera faerst &1 &1 ffiet gl

(a) Orange /AT

(b) Red /elTel

(c) Pink /ﬂﬂ'l’sﬁ

(d) Blue/aiTer
RRB Group-D 06-12-2018 (Shift-1)
o The color of litmus solution will become red when mixed with sulphuric acid, because litmus turns red in
acidic solution.
e Litmus is a mixture of various pigments soluble in water that is extracted from plants called lichen of the
Thalophyta group. It is often used as an indicator.

o  HeRIR TS & AT Aol W TorcHH el & 3T olTeT &1 SITUT, FiTeh 3{Foi biel 7 foleHd oTel
RIS

o TorcHE ureh 7 gofereiier [afdest Tt &t A0 § St AelithIser Hag o eligehe alHe it & foyehrer
ST & | S 3T Teh Hohcloh o &Y F 3YITT fohaT SATATE |

34. What will be the effect on the color of dry blue litmus paper when exposed to dry HCl gas? /H;@T T
3 & T T R GY el e T o {7 OR 4T Fe47 T591?

(a) It will become colourless. /Tg JETEIT &1 ST
(b) Its colour will be red. /ST I3T el GI4T.
(c) Its colour will not change. /sﬂw@m-é”raaam .

(d) Its colour will be pink. /WWWEIJII
RRB Group-D 07-12-2018 (Shift-ll)

e Dry blue litmus paper does not change color when exposed to dry HCl gas because it is unable toproduce
ions (H+) in the absence of water as it is not ionized. For this reason, it does not act like an acid.

o Ul oA G- U TIHIT 31 & HYeh 3 3T W a7 181 dGeldl § FiTeh Tg TTeil hr
AT 3T (Tar+) 3ot lel H 1GAY § FiTeh Ig AT FAGT 81T & | SH HROT TG 375
G F G AT & |

35.What is the action of dry HCl gas on dry litmus paper? /QIWWWW T TaHTeer 3 fraar

T g g?
(a) Blue litmus paper turns red. /WWWWETE’IHT%I
(b) Blue litmus paper turns white. /=TIl foledd 9 Athe, 8T AT & |
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(c) Blue or red litmus paper does not change its color. /WWWWWW@TF@TW%I

(d) Red litmus paper turns blue./dITel foledT 99T eI 8 STaT & |
RRB ALP & Tec. (13-08-18 Shift-I)

36. .o, is an amphoteric nature? /........... 334'21‘2]?:??97:5%%'?

(a) SO2

(b) N20

(c) caO

(d) znO

RRB ALP & Tec. (14-08-18 Shift-Ill)
o Metal oxides that exhibit both acidic and alkaline behaviors are called amphoteric oxides. Such as
aluminium oxide (Al203), Zinc oxide (ZnO)

o T 3iTFATSS S 3eT 3R aTR QA TR e e et 8, 3erarerat JHferarss Fgad g | o
TogHIfaa 3iarss (A1203), ol 3iferarss (zno)

37...... Reacts with acids and bases./. .. ... 371 3R &R & grar wfafear axar gl
(a) CuO
(b) Al203
(c) Na20
(d) K20
RRB Group-D 15-10-2018 (Shift-I)
e Al203 reacts with acid and alkali because aluminium and zinc metal oxides are amphoteric.

o AI203 37 3R &TR & Ay GiATshar e § it Tegaiforas 3R foieh e 3iferarss ssrersi gl
gl

38. What are the metal oxides that react with acids as well as bases?/d @il & ﬂ@ﬁm@g%a‘rmﬁ
&TR & ATy wiafshar shid 82
(a) Acidic oxide/ﬁ'ﬂﬁlﬂﬁg
(b) Neutral oxide
(c) Amphoteric oxide/TFRIE R TFATSS
(d) Alkaline oxide /Hrﬂuaﬁws?:
RRB ALP & Tec. (17-08-18 Shift-I)
Amphoteric oxide exhibits both acidic and alkaline behavior. /WWWWWW

TIAER UG d FIAT § | EX- Aluminium oxide Al203 and zinc oxide ZnO .

39. oxides react with acids as well as bases? /.......... 3TFATSS 31FoT S ATY-ATY &TR & TqTY &Y
gfafhar T &2
(a) Inactive/ATSHT
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(b) Acidic /3TFelr
(c) Alkaline/&TRI=r

(d) Amphoteric/3HI<X
RRB Group-D 19-09-2018 (Shift-Ili)

o Metal oxides that exhibit both acidic and alkaline behaviors are called amphoteric oxides. Aluminium

oxides are amphoteric. They react both with acids as well as bases.
o T 3TFATSS S 3T 3R ST QA sFaER W e et 8, 39Tt Jiferarss Fgaa g
TTATIIH TS SHAUHT gict & | I 3ol 3R &TR alat & @y wfafshar g1

40. Which metal oxide is an amphoteric oxide?
ohisT AT &I JHTFHTSS Ueh SHALIHT 37TFATSS B2
(a) Iron/eligT

(b) Aluminium /Teg#A A

(c) Sodium /ST

(d) Potassium/grefRITas
RRB Group-D 28-09-2018 (Shift-1)
RRB Group-D 28-09-2018 (Shift-1)
o Metal oxides that react with both acids and bases form salts and water, they are called amphoteric
oxides. Examples- Aluminium oxide, zinc oxide etc.

o I JTFATSS ST 3l 3R &TR AT oh AT TTAThaT hieh ofg0T AR UIeAT STl &, 3¢ TFDICRep
HTFATSS T STl & | SETEXUT- T TATAIH 3iTeFTss, foish Jiierarss e



